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Q1 A Attempt any two sub-quesllons from a) 1)) and c)‘m MS-EXCEL L(T?.ue or “_\" 0__22
False) 5T ;‘\' c.g, A Q' a
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(a) Embedded charts can be [fzcated d1rcct1y ona worksheet;‘- o o 57 =
NG o o) )
(b) A function must not Lo_gtaln anotﬁér functmn’ inits argﬁment. Q 5::"/ o \..i_:» Q?_.
\ |\;- / &
{c) The general synta)d‘or an extemai rcference forrpula is: .\,‘;—* Q‘T’ o ’ ﬂrff .
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B Attempt any two suh Qucstlons ‘from d), e) and l}m VISQKL BASIC A 02~
(Multiplg:Choice)," b Rl Q'
(d) Whnch ?)f the follo\vmg ﬁlefrype con&xms the name of thé‘other ﬁlesq‘used m_\«Vl sual (ib
Basic; PI‘O_]E:CIV‘H o ol & & 2T
A(). .FRM “B) OCX Q). VBP D) FRM . i e i
(e) A7 s the final kcyword used to. vindicate ﬁle end ofa sub proccdure o
‘A} Exit Sub ~B) End.Sub \, C) Exit~ =D) Qu1t-‘ o~
(f)>~" The Visgal Basrc”Pm_]ect are ldentiﬁed bya.es | X &
:‘-_:D' A)“ VBP” suﬁ'lx B)"‘ MAK 2suffix C) “ FRM’\’ sufﬁxD)_ AII of the Hbove
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Q\d Attempt any six suhgquesnons from g), h), i), ])—, R), D, m), n), 0) 1n~f3-Commerce 06
A (True Qr' Falsc) < o o Lr
= ' (g)' Transachon bro]ger earns; n;xoney in. the to"m of commtss“ion each tlme a transaction
Era ol OCCU.I’S s ,_‘\ o B
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ol <> (h) Rlchncss refers to tlx&total ..mmmt of mfo:matlon l‘that is avm'[able to all the
Y (;---' v@takeholder oy o
A7 L7 (1)"t Contelrt‘prowdeﬂs one of\vhc major§ BZB modél 5‘-
& o (j) E-Market isa Subset of ,E~Commeu:e A Lor
g S __r{(k) In «C"C E- Commerce consumcr l‘ransact wlt}i other Qonsumer through a physical
o v iarket. e K L \-.
o o M Dl;,ltal Signature changes for “every Dacument
’;_:‘ = (m} " In the Subscnpthn model: afee is charged to th“c user for baving access to a material
P e _\'_'--' on thg websxlcw‘ R
7 . ~(n) Secﬁre Sockeﬁ_ayer sza protocol deveIOpr:d by Netscape for the security of the data
. E Jira transit] e
_9;?: ‘ P (0) A’“The fulls ﬁ)rm of WAP is ereles.s Assocxate Protocol.
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A a5 (p) SET ensures A L AT
el 2 \?\) Authéfitication & B) Non-repudiation
_;:) ;f)’ 4 C) Both Authenl},catlon Non-repudxation D) None of these
% Fy )-.{ In_& = E-Compieree one business makes deals with another Business.
h sy AC2C BB C)B2B D) C2B
o~ A (@) (The modeth E-Commerce where companies earn revenue by referring users to other
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(s) SET is an open standard in E—Conunerceﬂffered hy‘” Q"\ ' Q{:\‘ ’ R &
A) Certification Authorities B) Microsoft , l R e 2 &
C) Master and Visa Card D)} World B\ank & & S .a_f?'\'
()  The full form of C2C in E-Commgfce is: _._0:____-%‘—-————(_’1’ AY o
A) Consumer to Commerce &) Commcrce to Censumer . ‘29 f‘} R
C) Consumer to Consumer .~ D) Commerce to@ommerciz e o Q\, Ly
(u) The sender and receiver wﬂl\have the sdme key iBT_____» CY O eTyP 0% X
A) Symmetric B). Asymmemp C{)“l’ubhc ~D) anatfe e 5&‘
(v) The Maximum number of' the transaction don€’in E- Ccfﬂmcrce a o __,c.,_.JYPﬁ\; K
A)B2B  B)C2B (¥ mC LY D)QC ““'] . e ({\‘\7 S
W) A Computcr—to~Computer excbalge of b.uSlnCSS trdpsaction istalle ‘*——*r— j:,b
A) E-Business  +."B) Supar»MarkLt C) EDI D) E- Ma{kel 0
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Q2 A Answer any ¢ié sub-questlon fmm 'a) andJJ) in E- Gommerce oy 5\ 08
(2)  Explain the féatures of E-Comméree. ;;7 Q o o S
(b) Explain the: ‘Followmg,BZC models in E-commerce N C e'.""
) E-Talier (n) f‘oment Prowder Qu) Transattlon Broker ;»S“ AT Hj?
ROl F &g B O
B Ansx\vel any opre sub- quesﬁon from ¢) and d) in E- r1(Z‘mnmerc & & 07
©) What is M-cammetce” ‘What arc fts apphcatxons‘7 27 w;« Q—-' L ol
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Q3 A Answer any ong;sub—questlon frop a) and b) i MS-EXCF L o 08
_(5) Thefsliowing data is eiitered in 4 worksheet. 1

~J

Incentive
135000 > 7
, : .~ 400007 &
1234 ~ || .= 7125000 0 ~T
4 6789 i = | 27800 =,"
9876 ot it} 22000 &

Write the steps to_compute itie Incentive, whichs calculatéd as Rs. 5000 for Grade [,
" Rs. 4@()0 for Grade 11, and Rs. 3000 for Grade m. 7

o
S

Total Eamnings

60000 |- s
%0000 o

Tss000r |
s 40400 \

8 o

Wr]te the; s?eps to compute the follovnng
1. ,Dlswunt '%‘% on sa{Es up to 40000, 8% on sales above 40000 but up to
o~ 70000 Lmd 10% eh 1 sales above 70000,
,.2 Bonus 3% of sales for sales above 50000, oitherwise bonus is zero.
s &3, 1 oml Earpmgs The suri 6 Discount and Bonus.
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Q3 B Answer any one sub-question from c) ﬁ“;ld d) in Nﬁ-EXCE'L & & o
(c) The following data is entered in a woiksheet. , = = ol sy ol ‘é‘;s‘
, = (Y %
£ £
Employee D Dcpartfn\?;f:nt . 5}\» :,f?
1001 B "
7 1002 T ; <
1003 Sales -~ | 150 ¢ 1400 - o, 5} o
1004 PMarketig ™ | 1407 o5 550 . % &
Total salary for I &~ il = o 5N o &
department \!}-' s 1= e s L rea &
Total hours. 2> R Q e N & o o 2,
worked by the o &Y i AF _;s;' «_;‘s‘;‘ n:;f“? ,«"";
Makedg & 5| F 0 &L
departmiont 4 Y ¥ —:‘f S B < o
erte the steps for:the follo“:mg A v o A
Tetal sala;y‘t in colury E (Total Salary ,\I%’ou:s WorLcd * Hourly Rat@) :§
2 “Total salary for Ild‘epa:tmcnt in cell Eé C_. o R
37T otal, haurs wonked by the\Ma:ketmg department in celLB7 o ah
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(d). xThe followmg worl(sheet shows the scl)res obtmned by students m‘?hfferent”‘
o Csubjectis
A- i _ ,_-}I'?stéry |:Geo [
& [z I0EN (85 [90: |75 60 A7 |5 | o
PO ANNA J50  |[85 (7045 T 160 oI K
&~ W ZOE & |40 55 |65 |60  |8p% 3 &
& A MIKE {905 |80.785 |70 60 o
Prgon Cia o i . B : S A; :
& &y L[] CLARK £ 4755 40 5 50 [
& & _ “Write tlie steps o' thum o s o e
Foy = r;}'" 1,;<Total mark.s in column H A Q’
“E _‘:-;,? ' o 2‘ Remark in columin I: "PASS 3" if the smdent sco:es 40 and above in all
; _:; _,.‘-;"fi’ CSt subLecls, othmwsc "FAJT 2 ;-5" )
d el - = ;
fi:f Q.{.\’: ”‘Answeraany one, sub-questmn fromfa) and b} m \/IS-EXCEL 08
o o (,a)‘ The Eoﬂ'owmg dam has been euteretLln a wor‘{shcet
S &~ [ ToNo_ [NAME PHONE- | BALANCE
T _:»“ i o2 [RaNI U | 9812544639 | 45060
SN a2 S1536 T|RAME | 9561248763 | 55000
0 e ¥ 08 A L1157 | VARUN | 8856341289 | 26000
& o A a7 239 | ASIFA (77862541985 | 68000
S . 8 .3 1257 LMEERA’| 9936458726 | 15000
& : :J‘ \-W rite ste{)s ‘to do thg followmﬂ’
I & & A)Display thedata forBalance greater than 55000.
AY R ,\"‘F B;‘Dmplay ¥ic data Where name start with "B”
& A & € stplay the data Where name is “RAM”
v o N Q D) Dlspiay the ¢ata where the balance is between 30000 and 50000.
et o
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(b) The following Excel Sheet shows the moé{b hkely A e 5» 'v.f' .‘:,\
A B G" B ul*d £ C"g
o = o= J Y o
1 Items Gost = o ,@Q i 0 |
: R = P el g _y ~ A
2 Machinery . 3@_@_;: — N é’? S P
3 Carriage 40180007 L o gl o0 T L
4 Transport .~ | 30000 | - - o & oF
3 Officc equipment 6000 |~ C::ST \._.:C ~ o
i S s s (e O ¢
6 Postage ."‘* ,1~7000 i i QA‘-“ .-.‘::Y.' /.'-\hv "L:;
7 Miscellaneous 213000 = P {,‘; ' _":'? e &
8 Total O | 114000 = P o7
Explain steps to Qrcatc Bestand Worst Scenario- by changmg the v@l‘ucs of cqlts B2 &7
To B7. For BegT Scenarig thange B to 5,000 B4 to 18,000, B51'4,000, Eor Worstss
Scenario chan”gc B2 to_80 000, B_?vto 9, 000. 'B6 to }g 000 and ¢ thén dlSP]’i}’ the 57 -~
~t 3 -
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Q4 B Answer any oné: s‘ub-que&ﬂon from HC) and d) in MQ-EXCEL 2 .-1:‘-’ ‘\S‘" 07
(©) lhc.followmg'data is cmercd in & worksheut‘rcgardmg Result ofsfudent m o
percentage year wise g oy =, o Q""—" i
s STTETIAAR 1D LIE & &
Wil iName -~  [2020 | 2021 2022 27 &
& [2 o] VINIEA %5 |87 S190 v | O £
S |30 |PRAKASH (145 [50 .7 {56 i
& J® TASHA 185 0 v 1760 T
AT 45 | SRIKANFET 705 75 & S B
Ay & Write lie stops g™ W i )&
& Wi Ai “To find +he total percemagem ColumnE v Ry
= Pl ;Bﬁ Create:Column.ghart for vaar 7020.#\ : Ea\
a7 ‘_‘-'Z"-“ ~,C) To lcréate Pie chart for ygar 2022 o ~l. ’
= ¥ \ D) To ‘ereate 8, Lhe chart Co\r ASHA’ m ”020 an‘d 2022,
o . R v .a_ T 5 =5d
\_\ T (c.} Explgm the followmg butff “in fonctions in MS:—EXCF L‘\
T S0 & LYBARQ 2. JIMEQ 3 CORREL{) 4, DATE() 5, COUNTA() 6. TODAY() 7.
‘ oo LA‘.RGJ:() o v
g Y ~ Pea £ 1 A
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er Answar,any an&sub-questlon from_a) and bhn VI&UAL BASIC Os
N (a) Wnt,ca project:in VB to. d\.Slgl) a fb;'m whcrc\thc user enters a radius, and the
¥ R o program calculates and-isplays, the area and circumference of a circle.
A__C‘ o (b) Writc a prOJect in VBTo designa form where the user enters three numbcrs and
o Jl faisplays the smallesrnumbcrwamong lhbﬂl
:‘ Py \} i \ /
‘,_:j‘* o B ¥ Ausw er any cmé sub- qt(eshon from c) and d) in VISUAL BASIC 07
~7 . _,,_C‘ u,(c) Wnte apro ecs in VB for de51gn a:foxm that allows the user to enter a number and
o ‘v sheck whefher itis even or odd:”
'_3‘&’ ; ::{\"“' (d) a;\lﬁéglc a proleci in VB lo compute and display the sum of all multiples of 5 from 1 to
N P
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